ALLOTEC

Investment Casting
B IREESE 2023



AO2

Forccl
A 28.4 28.4
- a 25.8 25.8
\ B 14.8 14.8
b 12.6 12.6
/ @c 25.4 28.6
b ‘ D 5.5 55
B { H 48.2 48.2
\J W 33.5 33.5
1 X° 6.5° 6.5°
H wi 120g 110g
AO3 ve
Fork Crown -
D [ | A 26.7 26.7
/Ei a 23.5 23.5
B 19.1 19.1
b 16.1 16.1
?C 25.4 28.6
D 5.7 5.7
H 64 64
w 41.8 41.8
X° 3.66° 3.66°
wt. 1609 1509
Fork Crown
—TDO [ A04-1 Y A04-2 T A26-1 T A26-2
T A 28 28 28 28
\ Jﬂ B 19.3 19.3 20 20
- ?C 25.4 28.6 25.4 28.6
B D 5.5 5.5 5.5 5.5
§7 H 59 59 59 59
w w 39 39 39 39
] Xo e e e e
o N 57° 57°
X — H \Y.J__._ wit. 130g || 120g 130g 120g

AO6

Fork Crown
28 28
20 20
25.4 28.6
5.5 5.5
70 70
50 50
3.2° 3.2°
115¢g 1509

AO7

Fork Crown

2C MODEL] A07-1 | A07-2

RA 9.2 9.2

RA RB 4 4

jolel 25.4 28.6

D 55 55

H 81.4 81.4

W 60 60

Wi. 185 150

RB g [¢]

(2 ALLOTEC )




Al0

OD A:lO-:l A10-2
Fork Crown = 8 o
B 20 20
@C 25.4 28.6
D 5.5 5.5
H 72 72
W 51 51
XO 30 30
Wt. 210g 200g
Fork Crown MOD A11-1 | A11-2
A 28 28
B 20 20
@c 25.4 28.6
D 5.5 5.5
H 60.7 60.7
W 43 43
X° 5.69° 5.69°
Y°© 5.71° 5.71°
Wi. 1059 95g

MIOD A13-1 | A13-2
A 30 30
B 20 20
ac 25.4 28.6
D 5.5 5.5
H 91.5 91.5
w 70 70
X° 1.3° 1.3°
Wt. 203g 205g
Fork Crown MODEL] A14-1 | A14-2
B_ A 28 28
\ B 20 20
! A @c 25.4 28.6
] D 5.5 5.5
H 70 70
w 50 50
X° 2.3° 2.3°
Wi 158g 131g

MOD A15-1 | A15-2
A 29.5 29.5
B 18.5 18.5
ac 25.4 28.6
D 5.5 5.5
w 33 33
X° 4.43° 4.43°
Wit. 1509 1409

('3 ALLOTEC )




A16/Al7

Fork Crown

5 A 28 28 28 28
B 20 20 20 20

C 25.4 28.6 25.4 28.6
D 5.5 5.5 5.5 5.5
H 70 70 64 64
w 50 50 42 42
3.2° 3.2° 3° 3°

158g 135g 110g 108g

MOD

A 28 28
B 20 20

gc 25.4 28.6
H 72.2 72.2
w 52 52
X °|| 3.35° 3.35°
Y° 5.7° 5.7°
Wi 169g 1469

JAM RS

Fork Crown MOD A18-1 | A18-2

A 24 24

ac 25.4 28.6
D 5.5 5.5
H 63.5 63.5
W 43 43
X° 3° 3°
W, 100g 90g

xo

A28

A28 H oo ras {1252

A 24 24

agc 25.4 28.6
D 5.5 5.5
H 63.5 63.5
W 43 43
X© 38 38
W 100g 90g

Fork Crown o0 m

A 28 28
B 20 20

ac 25.4 28.6
D 5.5 5.5
H 71 71
W 53 53
X° 4.26° 4.26°
Wt 1869 192g

(4 ALLOTEC)




0D
A 28 28
B 20 20
aC 25.4 28.6
D 5.5 5.5
H 61.68 61.68
w 40 40
X° 2.43° 2.43°
W. 188g 1629

A22/A24

Fork CIEE

28 28 28 28

20 20 20 20

25.4 28.6 25.4 28.6

55 5.5 55 55

83 83 83 83

61 61 61 61

2.56° 2.56° 2.56° 2.56°
7° 7°

185g 162g 185g 162g

Al120

Fork Crown MODEL] A120-1 |A120-2

. A 28 28
B 20 20

agc 25.4 28.6
D 5.5 5.5

H 64.5 64.5
W 43 43

X° 3.7° 3.7°

v° 7° 7°

Wi. 125g 1219

Al70
Fork Crown

VIOD

A 28 28
B 20 20

[]e] 25.4 28.6
D 55 5.5
H 57.87 57.87
W 36 36
X° 4° 4°
Wt 180g 1569

A210

Fork Crown MODELA210-1f A210.

A 28 28
a 24.9 24.9
B 20 20
b 16.9 16.9

gc 25.4 28.6
D 55 55
W 42 42
X° 3.5° 3.5°
Wit 1229 1329

(5 ALLOTEC )




DO2

Fork End

Fork End

D04

Fork End

@A 19 19 19
7B 16 16 16
C 8.4 8.4 8.4
D 10 10 10
M M5X0.8 | |2-M5X0.8
X0 e e T
Y° 44 44 44
Wt. 759 759 759

D05

Fork End

A 16
7B 13.5
D 9
Y©° 50°
Wt. 669

(6 ALLOTEC )




D06

Fork End

DQO7/

Fork End

Fork End

D10

Fork End

D11/D20

[ MODELY D06

7 A 17.5 17.5 17.5
B 14.9 14.9 14.9
2D 10 10 10
Y° 45 45 45
M M5X0.8 |[2-M5X0.8
Wt. 649 769 889

A

2 A 15
7 B 13
D 9
X° 4°
Yo 500
Wt. 359

A

33.7
B 18.6
D 9
M M5X0.8
X° 8°
YO 280
Wi. 1269

17.3 17.3 17.3

11 11 11

9 9 9
M5X0.8 | [2-M5X0.8

45° 45° 45°

60g 709 80g

Fork End
@A 19.6 17 17 17
7B 16 13.9 13.9 13.9
D 10 9 9 9
M M5X0.8 M5X0.8 || 2-M5X0.8
X° 4° 4° 4° 4°
Yo 3 o 7 o 7 o 7 )
N Wit. 849 849 899 949
4

(7 ALLOTEC )




A 20.8
B 15
D 10
M M5X0.8
v° 45°
Wi. 429

15.5
@ B 13 13 13
D 9 9 9
M M5X0.8 || 2-M5X0.8
XO 4 o 4 o 4 o
Y° 45° 45° 45°
Wt. 459 51g 579

D14/D17

Fork End

19.6 19.6 19.6 19.6
@ B 15.5 15 15 15
D 9 10 10 10
M 2-M5X0.8 M5X0.8 || 2-M5X0.8
X° 4° 4° 4°
v° 20° 20° 20° 20°
Wt. 459 459 51g 579

A 20
B 17
D 10
W, 569

D16

Fork End

DA 135
7B 10

D 10

M M5X0.8
X° 3.5°
Y° 45°
Wt. 45g

(8 ALLOTEC )




D18

Fork End DA
B
v If 7
2A 154 15.4 15.4
4 o8 105 105 105
D 9 9 9
M M5X0.8 2-M5X0.8
x° 4° 4° 4°
X° Y° 50° 50° 50°
ve Wit. 669 729 789

D19

Fork End

oA 318 318
7B 29.4 29.4
D 10 10
M M5X0.8

Ye 15° 15°
W 1089 114g

DA 24.5 24.5

2B 22 22

D 15.1 15.1

M1 2-M5X0.8
M2 M2 M15X1.5 || M15X1.5

oE 23.5 235

Wt. 1329 1419

DA 15.5 15.5 15.5

7B 13 13 13

D 9 9 9

M M5X0.8 2-M5X0.8
5 XO 40 40 40

Y° 45° 45° 45°

Wit. 459 51g 589

D26/27

b=
DA 17 17 17 15 15 15
2B 14 14 14 12 12 12
aC 12.1/15.1)(12.1/15.1)12.1/15.1|[12.1/15.1|[12.1/15.1|12.1/15.1

2D [19.2/21.2|[19.2/21.2|19.2/21.2|19.2/21.2|119.2/21.2|{19.2/21.2
M12X1.5||M12X1.5||M12X1.5|{M12X1.5||M12X1.5||M12X1.5

M1 |IM15X1.5/[M15X1.5/[M15X1.5|(M15X1.5[M15X1.5/M15X1.5
M2 M5X0.8 || 2-M5X0.8 M5X0.8 || 2-M5X0.8
v o 2 2

Wt. 1259 1319 138g 1189 1249 1319

(9 ALLOTEC )




Fork End
@A 17 17

17

o8B 14 14 14

@C | 12.1/15.1 | 12.1/15.1 |[ 12.1/15.1

@D | 19.2/21.2 |[ 19.2/21.2 |[ 19.2/21.2

H 11 11 11

L 235 235 235

M1 M5X0.8 || 2-M5X0.8

Vo M12X1.5 |[ M12X15 | M12X1.5
M15X1.5 || M15X15 | M15X1.5

W 1519 1599 1664

D31-2

DA 17 17 17

7B 14 14 14
D 10 10 10
H 11 11 11
L 23.5 23.5 23.5
M M5X0.8 [|2-M5X0.8
Ye 45° 45° 45°
W. 90g 98g 1069

Dropout Nut

L
OA 14
7B 12.5
H 1.5
@ L 12
Wt. 11g

DA 32.6
D 9.2
@A| D W. 759

oA 32.6
2B 12.1/15.1
o8 " M12X1.5
M15X1.5
W, 125g

(10 ALLOTEC )




Fork End

22.1 22.1 22.1
A 7B 19 19 19
B @C | 12.4/151 || 12.0/150 || 12.1/15.1
i @D || 19.221.2 |[ 19.2721.2 || 19.2721.2
H 16.7 16.7 16.7
L 32 2 2
R M1 M5X0.8 || 2-M5X0.8
¢ 2 || MI2XT5 | M12x15 | Mi2x15
® fac] M2 M15XL5 || M15X15 | M15X15
op 2 wt. || 216g 2259 235¢

DA DA 19 19 19
B 16 16 16
@C 12.1/15.1 || 12.1/15.1 || 12.1/15.1
2D 19.2/21.2 || 19.2/21.2 || 19.2/21.2
H 16.7 16.7 16.7
L 32 32 32
M1 M5X0.8 2-M5X0.8
M2 M12X1.5 || M12X1.5 | M12X1.5
M2 M15X1.5 || M15X1.5 || M15X1.5
Wit. 184g 193g 2039

Fork?;g MODEL
DA 19.6 19.6 19.6
7B 16.2 16.2 16.2
ac 12.1/15.1 || 12.1/15.1 || 12.1/15.1
oD 19.2/21.2 || 19.2/21.2 || 19.2/21.2

H 11 11 11
L 235 235 235
M1 M5X0.8 2-M5X0.8

vz || MI2XL5 [ M12X15 | M12XL5
M15X15 || M15X15 | M15X1.5

X 3° 3° 3

W, 1349 143g 153g

Dropout Nut

A 14

o8B 125
H 17.7
L 7.2
W, 17g

D120
Fork End

DA 15.5
7B 13
D 9

X° 4°
Y° 40°
W. 429

(11 ALLOTEC)




D310

Fork End

BO1l

Seat Clamp

BO2

Seat Clamp

B0O3/B04

Seat Clamp

DA 14 14

14
2B 11.1 11.1 11.1
D 9 9 9
M M5X0.8 || 2-M5X0.8
X° 4° 4° 4°
ve 45° 45° 45°
Wt. 41g 469 529

A 23.67]|| 23.67 23.67
B 7 7 7

D 9 9 9

M M5X0.8 |[2-M5X0.8
X° 4° 4° 4°

Ye 45° 45° 45°

M 459 51g 459

MODEL

oA 29.4
2B 31.8
C 22
@D 6.3
E 16
F 11
Wt. 60g

A 26.8 27.2
2B 29.6 28.6
C 22 22
@D 8.3 8.3
E 10 10

Wit. 50g 50g

26.2 26.8 29.8 30.4
28.6 29.6 31.8 32.8
20 20 21 21
8.3 8.3 8.3 8.3
10 10 10 10
409 409 489 489

(12 ALLOTEC )




BO5/B25
Seat Clamp o0 @A

MODEL
dA

26.2 29.8

gB 28.6 31.8
C 12 12
@D 8.3 8.3
gG 5.2 5.2

Wit. 50g 50g

gA

26.8 26.8 21
28.6 29.8 23
20 20 18
8.3 8.3 8.3
22g 22g 25¢g

BO9/B11
Seat Clamp

onl
=
} oo
\
\/
0B

Sléa%I.LQ/BlG/BlQ/Bl?/BlS/BZB

MODEL'B10 | B16 | B19 1 B17 [ B18 | B23 | B24 |

MODEL
DA 26.8
7B 28.6
c 23
@D 8.3
@ E 25.4
X° 69°/73.5°176°/79°
Wit. 48g
MODEL] B09-1 | B11
TA 26.8 29.8
2B 28.6 31.8
c 21.5 21.5
@D 8.3 8.3
Wi, 28g 28g

27.2
@B 286 286 286 286 286 286 28.6
C 20 20 20 20 20 20 20
@ D 83 |83 [83 |83 |83 |83 |83
o E 254 || 25.4 | 254 | 286 | 286 | 286 | 286
D F 14 14 14 14 14 14 14
01 76° || 76° [ 80° | 76° | 73° | 75.5°| 74.5°
62 51° [ 45° | 54° |51° | 40° | 46° | 43°
Wi. 65¢g 65g | 659 | 659 65g 65g | 659

(13 ALLOTEC )




Seat Clamp

@A
r——r @c BA 26.5
! 7B 29.8

T —~
—|-( gc 6.3
Wt. 23g

2B
- 13/B14
Seat Clamp ' MoDELTBL3-1TB13-2
A

DA

@ 268 || 272 || 294 | 29.8 | 31.8
7B 28.6 | 298 || 31.8 | 324 || 349
, " @D 8.2 8.2 8.2 8.2 8.2
U\ LAY W, 209 || _20g || 20g || 20g || 20g
H @D
N
7B

B15/B20/B22

Seat Clamp B15-1 | B20 Y B22-1
27.2 29.4 27.2
< 28.6 31.8 29.8
8.3 8.3 8.3
32g 35¢ 33g
\ 7B
Seat Clamp ac ODEL
— A 14.7
= b 7B 8.3

L\ B gcC 12.5
W rrr W, 24g
RA )

[%]2]
527 on
Seaf Lug .
f
P ]

28 28.6
[ 20

) @D @D 8.3

! ?E 28.6
X° 69/73.5/75.5177.5/82.5
Wi. 579

(14 ALLOTEC)




B28

Seaf Lug MODEL

3 A 272 || 272 | 272 || 27.2 || 27.2 || 27.2

2 B 28.6 || 28.6 | 28.6 | 28.6 | 28.6 || 28.6
c 22 22 22 22 22 22

@ D 83 |83 |83 |83 |83 |83

@ E 25.4 ||25.4 [ 254 | 254 | 25.4 | 25.4

DF 10.5 [ 10.5 [ 10.5 | 10.5 | 10.5 |[10.5
91 73° || 76° | 70.5°| 76° | 76° | 73°
82 46° || 49° | 55° | 45° | 51° | 42°
Wi. 85¢g 85¢g 85¢g 85¢g 85¢g 85¢g

B29
Seat Binder f B29-1 | B29-2 |

14.3 15.9
11 11
6.5 6.5
19.5 19.5
109 109

Seat Clamp

- oA 268 | 298 | 27.2
| o8B 286 || 31.8 | 298
== C 195 || 21 21
o0 < oD 65 | 65 | 65
oF 11 1 1

7B Wit. 229 22g 22g

B31

Seat Clamp
C
MODEL [ B31-1 [B31-2 [ B31-3 [ B31-4
DA 26.8 29.8 31.8 27.2
2B 28.6 31.8 34.9 29.8
@D|QE ({C——) C 21.5 21.8 23 23

z |
< @D 12 12 12 12
(%] 8.3 8.3 8.3 8.3
Wt. 32g 349 36g 369
| 2B

MODEL

BA 27.2

7B 28.6
C 19.5

3D 8.3

G E 25.4
X° 705°1735°76.5°
Wt. 579

(15 ALLOTEC )




B120/B126

Seaf Lug

MODEL
BA 27.2 27.2
28 28.6 28.6
C 19.5 19.5
@D 8.3 8.3
JE 28.6 28.6
X° 05735765 || 1057357765
Wit. 579 579

B130/B131/8140/8150/8151/816

Seaf Lug

DA

C
A1
|

MODEL

5[}3%&70/8180/8190

B181/B191
Seat Clamp

B183/B193

Seat Clamp

27.2 27.2 294 | 27.2 | 29.4
@B 28.6 29.8 286 31.8 || 28.6 || 31.8
C 19.5 21.5 20 215 | 215 || 235
@ D 8.3 8.3 8.3 83 |83 |83
3 E 25.4 254 | 28.6 286 | 31.8 | 31.8
X° TESTETIIORE| 74.5° |NTSTHTAAINE 73.5°/80°|| 78.8° (731795
Wi. 60g 769 659 70g || 76g 769
MODE
27.2 27.2 29.4
QDI_@ @B 28.6 28.6 31.8
C 19.5 20 21.5
‘ A @D 8.3 8.3 8.3
| L OE 25.4 28.6 28.6
x° 73.5°75°179°|| 74°/76°178° || 73.5°
579 60g 65g
[ MODEL
A OA 27.2 29.4
2B 28.6 31.8
c 21.5 21.5
@D 8.3 8.3
Wit. 55¢g 61g
MODEL
OA 27.2 29.4
@B 28.6 31.8
C 20 20
@D 8.3 8.3
Wit. 69g 789

(16 ALLOTEC )




B210/B220

Sea{ LUQ g A 27.2 | 27.2
@B 28.6 || 28.6
C 21.5 | 21.5
@ D 8.3 8.3
g E 254 | 28.6
D e 236 | 26.4
X° 725°75°078°|| 73.5°
Wi. 82¢g 979

B212/B222

Seaf Lug 2 A 27.2 | 27.2
[ =t o fes
D)oD 2D 83 | 83
J o E 25.4 | 28.6
ZE oF 16 16
o1 | 91 73°30°][73°30°
62 49°10°49°10°
— Wt 128g |133g
02 X /oF
@Bl

DA 27.2
2B 28.6
C 21.5
aD 8.3

OE 28.6
e 26.4
OF 14

01 76°
62 51°
Wit. 113g

B230/B240
Seaf Lug

g A 26.8 | 27.2
H+)-)@D| @B 28.6 | 28.6
' C 21 21.5
@D 8.3 8.3
@ E 25.4 | 28.6
X° TNT6°078° || T4°776°7T8°
Wt. 72g  ||72g

SBeatZL%2/8242
1

‘@Y _|@D 2 A 27.2 | 27.2
2B 28.6 | 28.6
c 21 21
oE @D 83 |83
X° 2 E 25.4 | 28.6
oF 15.9 | 15.9
61 73°30°[[73°30°
- 62 [49°10°[49°10°
Wt. 92g |100g

(17 ALLOTEC )




27.2

28.6 | 28.6 | 28.6 | 28.6
20 20 20 20
8.3 8.3 8.3 8.3
14 14 14 14
14 14 14 14

73.5° |74.5° 77.6° | 80°

45° ]49.6° 54.9°| 54°
95¢g 95¢g 95¢g 95¢g

B270/B280
Seat Lug _ .

2 A 27.2 | 27.2
2B 28.6 | 28.6
C 21 21
2D 83 | 8.3
o E 254 | 28.6
P e 23.6 | 26.8
X° 74° | 74°
W, 102g |113g

B310/B320

Seat Lug
27.2 27.2
28.6 28.6
21 21
8.3 8.3
25.4 28.6
23.6 26.8
74°/76° 74°
829 979
Seaf Lu
s MODEL
- DA 27.2 27.2
@B 28.6 28.6
C 21.5 21.5
@D 8.3 8.3
OE 25.4 28.6
X° 75° 73.5°
Wt. 128g 133g

(MODELIM171JM173 [ M181]
2B

28.6 31.8 28.6
254 254 28.6
61°/73.8°/67°/95.8° 95.8° 71.27180.2°183.9°7108°
429 629 50g

(18 ALLOTEC)




M175/M176

Clamp

TBO1

DA 28.6 28.6
7B 14 14

X° 55.44°
Y° 7° 5.91°
W, 309 31g

RA 14.3
OE 28.6
X° 77.3°
Wi. 429

Seat Clamp
L MODELY TB01-1Y TB01-2Y TB01-3
. DA 28 30 33
S 2B 29.8 31.8 34.9
CoNal c 20.5 22 23.7
O @ @D 10.5 10.5 10.5
M M M6X1.0 || M6x1.0 || M6X1.0
@B W, 30g 329 33g
Seat Clamp oA
C
—i MODELY TB02-1Y TB02-2Y TB02-3Y TB02-4
. J oA 27.2 28 30 27.2
2B 28.6 29.8 31.8 34.9
c 20 20.5 22 235
2B @D 8.3 8.3 8.3 8.3
Wi. 249 23g 259 279

(19 ALLOTEC )




TC O 1 MODEL | TCO1R TCO1H
Dropout D 10 10 10
C
M1

26
M1 M3X0.5
M2 M10X1.0
g. ' oo\ feoa\_ e [ 3z || 7 | 2
4 © o) (o] o (o)
S o o) (¢ o
o) ©/ \9 (o
M2
90933; 2A MODEL Co1-1] Coi-2
DA 15 15 15
ﬁ Pa 12 12 12
e 2B 16 16 16
Q b 14 14 14
C 26 26 26
D 10 10 10
E—:— G M5X0.8 || 2-M5X0.8
@ H 5 5 5
2B M M10X1.0||[M10X1.0|[M10X1.0
— Xo | 4r5ace0eor | |48 s4IB0° 0" || 4geIS4TI60°T0"
60° 60° 60°
200g 200g 200g

16

14

19

17

26

10
M5X0.8
M10X1.0

48°/54°/60°
130g

g'?o?o:ugt (MODELT C03

26
10
8
M10X1.0
66°/70°/74°
30°
80g

C04
Dropout

16
13.5
18
15.5

27
10
M5X0.8
M10X1.0
45°/55°/62°
1139

(20ALLOTEC )




30

10 10 10
M10X1.0 M3X0.5

339 329 339

MODEL

7B 16

b 14

C 27

D 10

E 8

M M10X1.0
X° 72.5°
Wi. 1059

MODEL | C07-1

DA 14
Da 11.8
2B 18.8
@b 13.8
C 26

D 10
OE 6

M1 M10X1.0
M2 M5X0.8
X° 48°
Wt. 205¢g

: ' oA 10
: : RB 23
L1 RC 19
:_j' _______ BA Wt. 205g
I

|

I

DA 12.5
7B 13.5
/ C 26
D 10
) /(A 2 ;
M M10X1.0
X° 45°054°160°166°/10°74°
Y° 60°
Wt. 80g

(21 ALLOTEC )




Cl4

MODEL C14-1
DA

Dropout 12.5 12.5 12.5
Ja 10 10 10
C 28 28 28
D 10 10 10
M1 M4x0.7 || Max0.7 || maxo.7
M2 M5X0.8 || 2-M5X0.8

M3 M10X1.0 || M10X1.0 || M10X1.0
X° 45°55°162°166°/70° | | 45°155°162°166°170°| | 45°155°162°166°/70°
WH. 171g 1779 183g

Cl5

Dropout

MODEL

DA 11
2B 12.5

D 10

M M4X0.7
X 55°/62°/66°/70°
Wt. 1809

Cl6

Dropout , oA T
7B 12.5
C 28
D 10
M M10X1.0
X° 55°160°165°/70°/74°
Wt. 1309

Clv/

Dropout
13 13 13
Ja 11 11 11
B 14 14 14
b 12 12 12
D 10 10 10
M1 M4X0.7 M4X0.7 M4X0.7
M2 M5X0.8 2-M5X0.8
X° A5 BT IBTI0NTA | [45°65°I62°I66°ITO°T74° | | 45°TS5°I62°166°T0°T74"
Wt. 171g 1899 1979

C18

Dropout 2B 13.2
@b 10.5
C 34.2
D 10
M2+ o M1 M3X0.5
M1y B2 M2 2-M5X0.8
N M3 M10X1.0
1 N X° 55°
c| \o5p WL 200g

(22 ALLOTEC)




Dropout

Dropout o

M1 30

D 10

M1 M5X0.8

M2 M10X1.0

Wi. 104g

(L
Dropout

C 31.8
D 10
M1
M2 M5X0.8
Wt 83g

C22

Dropout

MODEL | C22-2

2B 13.2

C 26

D 10

M1 M4X0.7
M2 2-M5X0.8
M3 M10X1.0
W, 1799

MODEL

6.2
30

10

51
39.9
78.1
M1 M6X1.0
M2 2-M5X0.8
M3 M10x1.0
Wt. 3369

S| (T|90|w

(23 ALLOTEC)




B 6.2 6.2
C 30 30

D 10 10

H 51 51

L 39.9 39.9
w 78.1 78.1
M1 M6X1.0 || M6X1.0
M2 M5X0.8
M3 M10X1.0 || M10X1.0
M4 3-M3X0.5 || 3-M3X0.5
Wi. 230g 2309

C24

Dro po ut 30 30 30
10 10 10
6.8 6.8 6.8
74.2 74.2 74.2
55.9 55.9 55.9
98.5 98.5 98.5
M5X0.8 2-M5X0.8
M10x1.0 M10x1.0 M10x1.0
M6X1X14L[{|M6X1X14L||M6X1X14L
3-M3X0.5 || 3-M3X0.5 || 3-M3X0.5
341g 341g 341g

Dropout

MODEL

C 30 30
D 10 10

H 74.2 74.2

E 6.8 6.8

L 55.9 55.9

w 98.5 98.5
M1 M5X0.8
M2 M10X1.0|[ M10X1.0
M3 MBX1XLAL ||MEX1X14L
M4 3-M3X0.5 || 3-M3X0.5
Wt 2469 246g

C47

Dropout

CA7-1

30.5 30.5

C 30 30

D 10 10

E 18 18

M1 3-M3X0.5 || 3-M3X0.5
M2 M5X0.8
M3 M10X1.0|| M10X1.0
Wit. 112g 1129

C51
Dropout

C 30 30

D 10 10

M1 M10X1.0 || M10X1.0
M2 M5X0.8
Wit. 100g 110g

(24 ALLOTEC)




Dropout

Dropout

Dropout

(25 ALLOTEC)

MODEL
C

30
D 10
H 34
L 15
M1 2-M5X0.8
M2 M10X1.0
W 313g

MODEL
o\ C

C55-2

30
H 34
L 15
M1 2-M5X0.8
M2 M10X1.0
M3 ML2X1.75M12XL5IM12XL0
W, 358¢g
(o
28
34
15
2-M5X0.8
M10X1.0
MI2KLTSIMLXLEMI2XL0
318g

o C79-1 :

C 28 28 28

H 34 34 34

L 15 15 15
M1 M5X0.8 2-M5X0.8

M2 M10X1.0 M10X1.0 M10X1.0
M12X1.75 | [ M12X1.75 | | M12X1.75

M3 M12X1.5 M12X1.5 M12X1.5
M12X1.0 M12X1.0 M12X1.0

Wt. 3069 3149 3229
MODEL C56-1

7B 16.6 16.6

[%]9] 13.4 13.4

—7 C 30 30

'fn\,\@ D 10 10
(/ M1 M5X0.8
A M2 M10X1.0 M10X1.0
X° 17.5° 17.5°

Wt. 171g 171g




C58

Dropout

Dropout

Dropout

Dropout

28
10 10 10
M10X1.0 || 3-M3X0.5
33g 38g 39g

MODEL] C66 |
A 18

C66-2

18 18
B 16 16 16
C 28 28 28
M1 M5X0.8 2-M5X0.8
M2 M10X1.0 || M10X1.0 || M10X1.0
M12X1.75 || M12X1.75 || M12X1.75
M3 M12X1.5 ||M12X1.5 ||M12X1.5
M12X1.0 ||M12X1.0 ||M12X1.0
Wi. 1469 1529 158¢g

Cc68-1 [ C68-2

18 18 18

16 16 16

28 40 40

742 74.2 742

475 475 475

M5X0.8 || 2-M5X0.8

M10X1.0 |[M10X1.0 |[MI0X1.0
M12X1.75 | [M12X1.75 | [M12X1.75
M12X1.5 ||M12X1.5 ||M12X15
M12X1.0 |[M12X1.0 ||M12X1.0

254q 260g 2669

C69-1 | C69-2

6.2 6.2 6.2
28 28 28
51 51 51
39.9 39.9 39.9
M5X0.8 || 2-M5X0.8
M10X1.0 || M10X1.0 || M10X1.0
M12X1.75 || M12X1.75 | [M12X1.75
M12X1.5 ||M12X1.5 ||M12X1.5
M12X1.0 |[M12X1.0 ||M12X1.0
78.1 78.1 78.1
2829 2909 2989

MODEL
C

C78-2

28
H 74.2
L 55.9
M1 M10X1.0
M12X1.75
M2 M12X1.5
M12X1.0
M3 2-M5X0.8
Wt. 325¢g

(26 ALLOTEC )




C80

Dropout

C81

Dropout

MODEL
DA

MODEL
A

18

C80-2

21

28

51

39.9

2-M5X0

-8

M10X1.0

M12X1.
M12X1.

M12X1.0

75
5

78.1

3249

MODEL
A

20.5
c 30
ML |[2-M4x0.7
M2 |[M10X1.0
M12X1.75
M3 || M12X1.5
M12X1.0
Wi. 1559

MODEL

oA 20
o8 19.4
acC 121
Wi, 1349

13.2 13.2 13.2
2B 16 16 16
C 28 28 28
2D 12.1 12.1 12.1
H 34 34 34
L 36.6 36.5 36.5
M1 M5X0.8 || 2-M5X0.8
M2 M10X1.0 |[M10X1.0 |[M10X1.0
M12X1.75 || M12X1.75 || M12X1.75
M3 M12X15 ||M12X15 ||M12X15
M12X1.0 ||M12X1.0 ||M12X1.0
Wt 192g 201g 211g

et ' csa T ces1t ces2

13.2 13.2 13.2
16 16 16
28 28 28
12.1 12.1 12.1
M5X0.8 || 2-M5X0.8
M10X1.0 ||M10X1.0 ||M10X1.0
M12X1.75 || M12X1.75 || M12X1.75
M12X15 ||M12X15 ||M12X1.5
M12X1.0 ||M12X1.0 ||M12X1.0
160g 165g 1679

(27 ALLOTEC)




C110/111

Dropout , oA 1 125
. 7B 12.5 12.5
‘ C 28 28
D 10 10
M1 M10X1.0| M10X1.0
M2 2-M5X0.8|| 2-M5X0.8
X° 65° 65°
Wt 200g 200g

MODEL | C120

Dropout 2A 11
7B 12.5
C 26
D 10
M M10X1.0
X° 66°
Wit. 200g

Dropout A [ A\ MODEL [ c210 C210-2

DA 11.8 11.8 11.8
Ja 9.1 9.1 9.1

7B 14.2 14.2 14.2
@b 115 115 115

C 26 26 26

D 10 10 10

M1 M5X0.8 2-M5X0.8
M2 M10X1.0|| M10X1.0f] M10X1.0
X° 54°/60°/66°/70° ||54°/60°/66°/70° || 54°/60°/66°/70°
Wi. 1359 137¢g 1399

Dropout

MODEL | C230

DA 11

7B 125
C 26
D 10
M M10X1.0
X° 54°/60°/66°/70°
Wi. 779

(28 ALLOTEC )




Dropout

MODEL
A 18
E1 9
E2 10
L 60
M M3X0.5
X° 100°
W 285g

MODEL
A 21

E1 9

E2 10

M M3X0.5

Wt. 1069
MATERIAL|| AL

MODEL
A 15
B 8
C 30
D 10
E 9
H 51
L 37
M1 M10X1.0
M2 2-M8X1.25
Wt 121g
MATERIAL AL

MODEL

A 15

B 8

D 10

E 9

H 51

L 37

M2 |[2-M8X1.25

Wi. 99g
MATERIAL|| AL

MODEL

A 15

B 8

C 30

D 10

E 9

H 51

M1 M10X1.0

M2 |[2-M8X1.25

Wt. 114g
MATERIAL|| AL

(29 ALLOTEC)




2
g%c%out . MODEL
15

A
A B 8

D 10

E 9

H 51

M2 |[2-M8X1.25

Wit. 949

MATERIAL AL

MODEL
A

15
B 8
C 30
- D 10
E 9
M1 M10X1.0
M2 M8X1.25
Wi. 979
MATERIAL AL

A

15
B 8
B D 10
T A E 5
M2 2-M8X1.25
MI 70 0O @ o\ Wt. 769
E MATERIAL| AL

A"
15
8
30
10
9
74.2
M10X1.0
2-M8X1.25
2-M6X1.0
145g
AL

MODEL

15

8

10

9

74.2
2-M8X1.25
2-M6X1.0
. 1249
MATERIAL AL

(30 ALLOTEC )




C86 | 'MODEL]_C86 |

8

Dropout H L

7.5

10

9

A
B
C 30
D
E
H

34

L 36.5

M1 M10X1.0

M2 2-M8X1.25

M3 2-5.3X8.3

Wi, 121g

MATERIAL AL

Dropout - 15

8

10

9

34

36.5
2-M8X1.25
2-5.3X8.3
. 99g
MATERIAL] AL

C 5 2 MODEL] €52 |
Dropout A 15

8

30

12.1

9

51
M12X1.75
M1 M12X1.5
M12X1.0
M2 2-M8X1.25
M3 M10X1.0
Wit. 123g

MATERIAL| AL

I |m|o0|w

Co95

Dropout A

B 8

D 121

E 9

H 51
M12X1.75

M1 ||M12X15
M12X1.0

M2 2-M8X1.25

Wi. 115g

MATERIAL| AL

MODEL
15

A

B 8
Cc 30
E

H

9
74.2

M12X1.75
M1 M12X1.5
M12X1.0
M2 |[2-M8X1.25
M3 |[M10X1.0
M4 ||2-M6X1.0
Wt 1609

MATERIAL AL

(31 ALLOTEC )




C96

Dropout MODEL] C9 |
A 15
B 8
D 12.1
E 9
M3 H 74.2
M1 2-M8X1.25
M12X1.75
M2 M12X1.5
M12X1.0
M3 2-M6X1.0
WH. 1379
MATERIAL AL

C85
15

Dropout &
B 8
r C 30
ITT ] D 121
5 [ ~—F E 5
F 32
H 34
L 36.5
M12X1.75
M1 M12X1.5
M12X1.0
M2 2-M8X1.25
M3 M10X1.0
WE. 141g
MATERIAL AL

COv L

Dropout 15
8

121
9
32
34
36.5
2-M8X1.25

M12X1.75
M12X1.5
M12X1.0

Wi. 133g
MATERIAL AL

C88

-~ || T|m{m{O|lw|>

<

<
N}

Dropout A L

B 8

C 30

D 12.1

E 9
M12X1.75

M1 M12X1.5
M12X1.0

M2 2-M8X1.25

M3 M10X1.0

Wit. 1049
MATERIAL AL

C89 PMODELY_ C89_

Dropout A 19
B 8
D 12.1
AlB - 0O 1] E 9
— 7 M12X1.75
M1 M12X1.5
M12X1.0
© [@)) M2 2-M8X1.25
Wt 969
MATERIAL| AL
M1

(32 ALLOTEC )




MODEL
A

20
B 30
Wt. 469

MODEL
A

20
B 30
Wi, 169

MATERIAL AL

30 30 30
30 30 30
10 10 10
10.2 10.2 10.2

M5X0.8 || 2-M5X0.8

M10X1.0|| M10X1.0|| M10X1.0

48g 509 52¢g
AL AL AL

30 30 30
10 10 10
10.2 10.2 10.2
M5X0.8 || 2-M5X0.8
. 689 709 729
MATERIAL AL AL AL

MODEL
B

30 30 30
30 30 30
19.5 19.5 19.5
121 121 121

M5X0.8 2-M5X0.8
M12X1.75 || M12X1.75 || M12X1.75
M12X1.5 || M12X1.5 || M12X1.5
M12X1.0 || M12X1.0 || M12X1.0
M3 M10X1.0 || M10X1.0 || M10X1.0
Wi. 70g 73g 759

MATERIAL AL AL AL

(33 ALLOTEC)




C70
Dropout

o EA ﬁ_@u A 21 21
] D 10 10
E 16 16
M3 ©) H 34 34
D. &C@)@“ T~ L E | 36.5 36.5
9 o/ L 10 10
M M5X0.8
! H W, 1429 1499
MODEL
A 21 21
D 10 10
M M5X0.8
Wt. 40g 48g
MODEL
A 21 21
D 10 10
E 16 16
H 34 34
| 36.5 36.5
L 10 10
M M5X0.8
W, 1429 149g
MODEL
A 21
D 10
M M5X0.8
Wi, 479

MODEL | C74
c 28

L 19.5
M12X1.75
M1 M12X1.5
M12X1.0
M2 M10X1.0
M3 M3X0.5
Wit. 459
MATERIAL AL

(34 ALLOTEC)




MODEL
C

28
D 10
M1 M10X1.0
M2 M3X0.5
Wt. 369
MATERIAL|| AL

MODEL
D

10
M M3X0.5
Wi. 299

MATERIAL AL

MODEL
D

10
M M3X0.5
Wi. 399
MATERIAL AL

 c90 I C90-1 [ C90-2

20 20 20
18 18 18
9 9 9
80 80 80
M5X0.8 || 2-M5X0.8
6 6 6
1629 1689 175g

A 7
@B 121
C 30
D 36.5
E 15
H 34
L 80
M1 2-M8X1.25
M12X1.75
M2 M12X1.5
M12X1.0
M3 M10X1.0
Wi. 1399
MATERIAL AL

(35 ALLOTEC )




Top Head L

ug
i 28 MODELY Fo01

oA 25.4
o | B 318
H 42
— A
X° 70.5°
= Wi. 25¢g
L H

MODEL] F02 |

DA 28.6
H @B 31.8
H 46
X° 61.5°
Wt. 25¢g

MODEL[ F03 T F05 ]

oA 28.6 28.6
oB 31.8 36
H 495 495
X° 0mEEee || emeeny
Wt 25g 23g

H
MODEL] Fo4 | F06 |
DA 31.8 31.8
@B 31.8 36
H 56.5 56.5
X° 58°/60°/63°/66°/69°| | 58°/60°/63°/66°
H Wi, 30g 279

(36 ALLOTEC)




Top Head Lug

MODEL
DA 25.4
j 7B 31.8
DA L H 50
X° T1°074°[77°180°
Wi. 289
H

Bottom Head Lug

H MODEL
DA

28.6
o8B 31.8
H 55
X°||57160°/63°166°
1 Wt 329

Top Head Lug

7B
Xo /—

MODEL[ F09 |

DA DA 25.4

7B 31.8

= H 42
H X° 67107315 178°/81°
M~ Wi. 199

Bottom Head Lug

MODEL] F10 |

DA 28.6

7B 31.8

H H 50.5
X° 58°/60°/61.8°/63°/66°

Wt. 24g

7B

(37 ALLOTEC )




f MODEL
DA 30.4

=35

Wt. 79
Top Head Lug oh MODEL[ _F12

@A 30.4

@B 32.4
M 2-M5X0.8
W, 11g

MODEL | F111
DA 25.4
7B 31.8

H 49.5
X° T25°015.1°119°
Wt. 189
MODEL | F110
oA 28.6
2B 31.8
H 55
X?° 58.4°/61.6°/77.5°
Wi. 239

(38 ALLOTEC)




o]

F121
Top Head Lug @
N

MODEL

F121

DA

/‘! BA 28.6
| 7B 31.8
| H 49
X° 70.5°73.5°77°
‘ Wi, 21g
H
|
MODEL] F120
BA 31.8
@B 31.8
H 55
H X° 59.5°/63°/66°
W. 24g

F131/F135/F141/F151

Top Head Lug
MODEL
oA

F131 Fi141 F135

25.4 28.6 25.4
o8B 31.8 31.8 36
H 52 52 55
X° TSR TS TSI IYS 73°
| W, 289 30g 28g
MODEL Fi51 F161
H| [ oA 28.6 31.8
2B 36 36
H 52 52
X° TS TETTIEREIONOR| | 7375177 80°
Wi 35¢ 38g

E%%g!ﬁ%32/F134/F14
N MODEL

F130 F140 F132

MODEL
DA 28.6 318 25.4
g | H B 318 318 31.8
g ! H 56 60 60
DA i X° 58°/59.5°/61°/63° | | 58°/59.5°/61°/63° 61°
i Wi. 38g 409 409
X 2B
MODEL F150 F160 F134
DA 318 34.9 28.6
2B 36 36 36
H 60 60 60
X° 58°/60°/62°/64° 59°/61° 77.30°
W 459 489 489

(39 ALLOTEC )




F 1 3 3/ F 143/ F 1 5 3 MODEL] Fi133 F143 F153
Top Head Lug oA 25.4 28.6 28.6
318 318 36

@B
25 25 25

7B E
p— H 67 67 67
X° X° 73.5° 73.5° 73.5°
£ Wt. 559 559 559
@A
H

F182
Top Head Lug §
//

MODEL | F182

DA 28.6
RB 15.9
X 77°
DA
Wt. 33g

F173/F183
Top Head Lug
/

F1/5
Top Head Lug

DA 14X2
7B 31.8
H 49.5
X° 98.8°

2
]
9} | Wt 299

MODEL | Fi73 [ F183

DA 25.4 28.6
B 31.8 31.8
H 49.5 49.5
X° 22° 22°/55°
/ Wi. 559 55¢g

T

NG
RB
[ —
B
|
|
B

]

(40 ALLOTEC)




E,E'Hza}!ulj 181/F191

31.8 31.8
49.5 49.5

735°079°/105.2°1120° || 72.5°75°179°198.8°/108°
28g 309

28.6

36

49.5
73.5°/75°(79°/98°/108°

35¢g

F170/F180/F190

Bottom Head Lug
H
oA
"
2B

F211/F221/F223
Top Head Lug (MODELT F211 T F221 T F223 ]

_F170 T _F180 |

28.6 31.8

318 318

55 55
595°6LE763I646° || 59.5°/63°/66.8°

35g 409

31.8

36

55
59.5°/63°

409

oA 25.4 28.6 28.6
@a 235 26.4 26.4
o8B 31.8 31.8 36
H 495 495 49.5
. X° 72.5°/75° 73.5° 73.5°
X @B W 469 51g 53g

F210/F220/F222

Bottom Head Lug

MODELT" F210 T F220 T F222
DA

28.6 318 318
B ! Za 26.4 29.9 29.9
7B 318 318 36
B H 55 55 55
| H X 59.5%62° || 595%62° 59.5°
Wi. 739 739 739

(41 ALLOTEC )




F231/F241/F243

Top Head Lug

B
x4 |
@
|
|

F230/F240/F242
Bottom Head Lug

-

2

\-
B

F251
Top Head Lug

xﬂ

F250 o6
Bottom Head Lug
|

7

-

DA

MODEL| F231 [ F241 T F243 |
DA 25.4 28.6 28.6
oB 31.8 31.8 36

H 52 52 52
X° TUTP TS| [TEME NS TAne g || 73°75°177°
Wt. 339 35g 379
MODEL[ F230 | F240 T F242 |
DA 28.6 31.8 31.8
?B 31.8 31.8 36
H 60 60 60
X° 59°160°/61°/62°/63°|| 58.5°/60°/62° 58°/60°/62°
Wi. 429 439 45¢g
MODEL | F251 |
DA 14
7B 31.8
H 50
X° 73°[15.1°078°
Wt. 33g
MODEL | F250 |
DA 16
B 31.8
H 55
X° 60°/62°
Wit 409

(42 ALLOTEC)




IT:oszZa;jLL/ulj 2 8 1/ F 2 8 3

MODELJ F271 T F281 I F283 |

oA 25.4 28.6 28.6
@a 23.6 26.4 26.4
7B 31.8 31.8 36

H 48 48 48

X° 74° 74° 74°/76°

Wi. 729 749 769

F270/F280/F282
Bottom Head Lug MODELY] F270 | F280 | F282 |

28.6 31.8 31.8
raa 26.4 29.9 29.9
7B 31.8 31.8 36
H 53.5 53.5 53.5
X° 58°/60°/62°||  60° 60°
Wi. 859 879 90g

F311/F321/F323
Top Head Lug

\
F310/F322
Bottom Head Lug "moDELT” 310 ¥ Fa22

25.4 28.6 28.6

(Z)a 23.6 26.8 26.8
2B 318 318 36
H 50 50 50
X° 74° 74° 74°

Wi, 729 749 769

28.6 31.8
ga 26.8 30
7B 31.8 36
H 58.8 58.8
X° 60°/62° 60°/62°
Wi. 85g 909

Ba °
DA ~ ]

(43 ALLOTEC)




F331/F341

Top Head Lug

MODEL | F331 F341

-

F330/F340
Bottom Head Lug

‘@

C%mlp20/6127

Ia!“ZYI].pZO/H 127

DA 25.4 28.6
2B 31.8 31.8
H 55 55
X° 73.5° 73.5°
Wt. 729 729
" F330 | F340 )
28.6 31.8
31.8 31.8
60 60
X° 60° 60°
Wt. 729 729
MODEL] G120 | G127
DA 25.4 28.6
M M6X1 M6X1
X° 17° 17°
Wt. 669 709
MODEL] G121 | G122 |
DA 25.4 28.6
M M6X1 M6X1
X° 17° 17°
Wt. 669 709
MODEL] H120 | H127
DA 25.4 31.8
M M5X0.8 M5X0.8
Wi. 45¢g 489

(44 ALLOTEC)




(45 ALLOTEC )

(" N ("
oA 28.6 28.6 28.6
2B 28.6 28.6 28.6
- @C 22.2 22.2 22.2
N X° 59° 59° 61.6°
1< H Y 61° 66° 65.5°
2 Zo 70 7o 70
W 145g 145¢g 145g
N\ N\ N\ N\ N\ N\
oA 31.8 || 31.8 || 31.8 | 31.8 | 31.8 | 318
7B 28.6 || 286 || 286 | 28.6 | 286 | 28.6
@C 222 | 222 | 222 || 222 | 222 | 222
X° 58.5° | 60.5°| 62.5°| 62° || 59° | 61.6°
ye 65° 65° || 65° 69° | 68° | 62.9°
z° 7° 7° 7° 7° 7° 7°
W 168g || 1689 | 168g | 168g | 168g | 1689
oA 28.6 || 286 | 28.6 | 28.6 | 28.6 | 28.6
7B 28.6 | 286 | 28.6 | 28.6 | 286 | 28.6
oC 222 || 222 | 222 | 222 || 222 | 222
X° 60.5° | 68° | 62.9° | 61.6° || 61.9° | 58.4°
Ye 64° || 62° | 58.4° | 62.9° || 68.2° || 62.9°
z° 7° 7° 7° 7° 7° 7°
Wt 1759 || 1759 || 1759 || 1759 || 1759 | 1759
" aYd Y
oA 31.8
7B 28.6
@C 22.2
L 68/70
M 137 X4TIMEX24T]
X° 60.5°
Ye 61.5°
z° 7°
Wt 175g




DA 28.6 28.6
7B 28.6 28.6
aC 22.2 22.2
X° 79.5° 79.5°
Y° 70.4° 75°
Zo 70 70
WH. 1549 1549

V. N D D
DA 28.6 28.6
2B 28.6 28.6
acC 22.2 22.2
X° 60.43° 61.8°

Y° 62.72° 67.5°
ZO 70 70
WH. 1549 1549

s Y aYa D
DA 31.8 31.8
2B 28.6 28.6
aC 22.2 22.2

X° 58.7° 59.3°

Y° 65.2° 62.3°
z° 7° 7°

Wi. 1479 1479

s N\ N\ N
DA 31.8 31.8
[%]3] 28.6 28.6
aC 22.2 22.2

X° 61.6° 62.5°

Y° 65.5° 59.5°
ZO 70 70

Wi. 1479 1479

V D

DA 28.6 28.6 28.6 28.6 28.6 28.6 25.4
7B 28.6 28.6 28.6 28.6 28.6 28.6 28.6

aC 222 || 222 | 222 || 222 | 22.2 | 22.2 || 22.2
X° 57.38°| 58.78°] 59.89°| 61.14° | 62.14°| 75.30°|| 59.5°
Ye 64.8° | 63.55°| 63.25°| 63.25° || 63.25° 78° || 67°
z° 7° 7° 7° 7° 7° 7° 7°
Wt 1759 | 175g || 1759 | 1759 || 1759 || 1759 || 1759

4 N\

oA 31.8 || 31.8 || 31.8 | 31.8 || 31.8 | 34.9
o8B 28.6 | 28.6 | 28.6 | 28.6 || 28.6 || 318
@C 222 |[ 222 | 222 || 22.2 | 222 || 22.2
X° 58° | 59° | 60° | 61° 62° | 60.2°
Ye 64° | 64° | 64° | 64° 64° | 63.2°
z° 7° 7° 7° 7° 7° 7°
Wi, 1759 || 1759 || 1759 || 1759 || 1759 || 1759

(46 ALLOTEC)




(47 ALLOTEC)

DA 28.6 | 28.6 | 28.6 | 28.6
7B 28.6 | 28.6 | 28.6 | 28.6
agC 222 || 222 || 22.2 | 222
X° 57.38°| 59.3° | 61.5° || 62.14°
Y° 64.8° | 64° 67.3° || 63.25°
Zo 70 70 70 70
Wi. 1479 | 147g || 147g | 1479
4 2
DA 318 || 31.8 || 31.8 || 31.8 || 31.8
2B 28.6 | 28.6 | 28.6 | 28.6 || 31.8
acC 222 || 222 || 22.2 || 22.2 22.2
X° 56.8° | 58° 60° 62° 67.4°
Y° 62.9° | 64.2° | 64.3° | 64° 58.7°
Zo 70 70 70 70 70
Wi. 1479 | 1479 || 1479 | 147g | 1479
~
oA 28.6 | 28.6 || 28.6 || 31.8 | 31.8 || 31.8
Da 26.8 | 26.8 | 26.8 || 29.9 | 29.9 || 29.9
B 28.6 || 28.6 | 28.6 || 28.6 | 28.6 | 28.6
@b 26.8 || 26.8 | 26.8 | 26.8 | 26.8 || 26.8
aC 222 || 222 || 222 || 222 || 22.2 | 222
dc 20.35 | 20.35 || 20.35 || 20.35 | 20.35 || 20.35
X° 58.4° 60° 60° 58.4° || 60° 61.9°
Ye 62.9° 64° 68° 62.9°|| 64° 68.2°
ZO 70 70 70 70 70 70
Wit. 220g | 220g || 220g | 230g | 230g | 2309
4 D
DA 28.6 28.6 31.8
2B 28.6 28.6 28.6
C 22.2 || 27X17|| 22.2
X° 60° 58° 60°
Y° 64° 67.5° || 62.72°
ZO 70 70 70
c WH. 300g || 302g |[312.5g
5 N
)= N
5 x
— <SS )




5 D
DA 28.6 || 31.8 || 31.8 || 31.8 || 34.9 34.9 | 34.9
7B 28.6 28.6 28.6 || 31.8 || 31.8 || 31.8 | 31.8
C 27X17 || 30X17 || 30X17 || 30X17 || 30X17 || 30X17 || 30X17
X° 59.5° | 57.38°|| 60.5° | 60° 57° 60° 63°
Y° 62.5° || 64.8° || 62° 64° 64° 62° 65°
z° 7° 7° 7° 7° 7° 7° 7°
Wit. 1759 || 175g | 1759 || 175g | 175g | 1759 | 1759

C N N Y
DA 28.6 28.6
2B 28.6 28.6
C 27X17 27X17
X 59.5° 61.9°
Ye 62.5° 68.2°
z° 7° 7°
Wi. 1759 1759

5 N D 2
DA 31.8 31.8
2B 28.6 28.6
C 30X17 30X17
X° 58° 60°
Ye 64° 64.3°
z° 7° 7°
Wt. 180g 180g

P aYa aYa D

DA 28.6 28.6

7B 28.6 28.6

C 30X17 30X17

X° 57.38° 60°

Y° 64.8° 64°

z° 7° 7°

WH. 178g 178g

4 N N Y

DA 31.8 31.8

7B 28.6 28.6

C 30X17 30X17

X° 58° 60°

Y° 64° 64°

ZO 70 70

Wt. 183g 1839

| D 2
DA 16
2B 28.6
acC 16
X° 60°
Y° 64°
z° 7°
Wt. 1759

(48 ALLOTEC )




MODELY E02
RA 15.9
B 6.3
c 2.4
W, 12g

MODEL] E06 |
RA 15.9
B 6.3

Wi. 89

E11/E13

Cable Stopper

MODELT E11 | E13 |

ZB 6.3

Wt 10g 10g

MODELT E12 T E14 ]
RA 17.5 12
2B 6.3

6.3

Wit. 10g 10g

MODELY E32
RA

Wit. 89

(49 ALLOTEC )




Cable Stopper

MODEL] E33 |

RA 14.3
RB 2%x2.6
C 7.6
" c T H 7.5
L 20
L W. 59

RB MODEL] E48 |
RA

14.3
RB 3x2.75
C 7
H 9
L 16
Wt. 39
RA
Cable Stopper
MODEL [ E05
RA 11
2B 2.7
C 12
Wt 79
Cable Stopper
MODEL[ E26
RA 15.9
M B 20
aC 6.8
M M5X0.8
Wit 89

E37

Cable Stopper

PN
JARY
%

B MODEL
A

8

(50 ALLOTEC )




( MODELT" __ TE01
6

2A
B 18
R 8.88
DA Wt 29

R

MODEL TE02

—
—m | >

MODEL TEQ05

L
9C 6
D 3
L 40
g W 12.8
@C Wt 59

(51 ALLOTEC>




Cable Stopper

MODEL] E60 |
. RB 15.9
H 11
L 32
M M3X0.5
W 12.6
Wi. 49

Cable Stopper W

MODELT E61
DA

6.1
@B 2.7
H 8
L 27.5
Y 8
Wt. 29
MATERIAL AL

MODEL] E62 |
DA

6.1
H 8
L 27.5
W 8

Wt. 2g
MATERIAL|| AL

MODEL] E63 |

FA 6
- L o H 8
—= = L 275
DA w 8
Wit. 2g
MATERIAL AL

A

B
A : H
A WW
N L 27.5
B w 8
L Wi. 29
:I MATERIAL AL
T 11 % J
P2 H

(52 ALLOTEC)

Cable Stopper MODEL] E64 |
7
8
8




Cable Stopper

——& v MODELY] E65
H 8
L 275
L w 8
Wt. 29
J H MATERIAL AL

L

Cable Stopper
W
| ) 2.7

’ L D 2.2

™ H 8

/‘ 27.5

- I WJ H WL 29

D MATERIAL|| AL

Q
us]
\e
>
EI_
[o0]

7);"

Dropout Nut

w| <o) MODEL
’ ‘ oA 6.1

H 8

- L - L 275

W 8

A/QA | Wi. 29

MATERIAL AL

|
_ Bt

x . MODEL| E68 |

DA 6.1

OB 2.7
DA H 8
L 27.5
W 8
MATERIAL AL

o8B
B

Cable Stopper MODEL %
: A .
— 7S B 7.2
w D H 8
— 7 L 27.5
TA L M M5x0.8

w 8

Wt. 49

M MATERIAL|| AL
IV

(53 ALLOTEC )




E/O

Cable Stopper

E/1

Cable Stopper

Cable Stopper

M

MODEL
RB 15.9
H 9
L 24.6
M M3X0.5
W 12.6
Wit. 49
MODEL] E71 |
DA 6.1
B 2.7
H 6
L 20
W 8
Wi. 29
MATERIAL AL

MODEL
DA 6.1
H 6
L 20
W 8
Wi. 29
MATERIAL AL

MODEL[ E74 )

A 7

B 8

H 6

L 20

W 8

Wt. 29
MATERIAL] AL

MODEL
H 6
L 20
W 8
Wi. 29
MATERIAL AL
MODEL
DA 9.2
B 7.2
H 6
L 20
M M5x0.8
W 8
Wt. 49
MATERIAL AL

(54 ALLOTEC)




Cable Stopper

MODEL
DA 6.2
RB 16
Wi. 109
MODEL
DA 7.5
M M5X0.8
Wi. 39
MODEL| E25 ]
DA 11
D 7
E 5
H 7
M M5X0.8
Wit. 49
Cable Stopper
MODEL
RA 9.525
M M10X1.0
Wt. 129
MODEL
RA 14.3
M M10X1.0
Wt. 129

(55ALLOTEC )




EO4

Boss Front Derailleur

RA

15.9
B 1.2
Wi. 199

EOS8

Boss Front Derailleur

RA 14.3
B 1.2
Wi. 89

EO9

Boss Front Derailleur

RA 14.3
B 1.4
Wt. 7g

Boss Front Derailleur

H

37
w 28
Wt. 199

E34

Boss Front Derailleur

RA 14.3
RB 20

L 22.1
M 2-M5X0.8
Wt. 18g

(56 ALLOTEC)




MODEL J' E35

E35 v
Boss Front Derailleur RA 14.3
.2
?A M56X 1.0

: W 41g
RA
ol

—

Esﬁ gvét%il%ur ﬁ MODEL % 1 2
B 25 25 25
C 8.7 8.7 8.7

_RA ¢ L 16 20 20

Wt. 149 169 169

raEmes

13.5 16.6

D o8
W) M C 10 10

c rI»(/ M M5X0.8 || M5X0.8
\1/ Wit. 439 639

B

DA 14.75
7B 12.8
M M5X0.8

Q T Wit. 789

MODEL I E49 |

A 19
2B 15

gcC 10
N Wt. 78g/29g
T MATERIAL{| CRMO/AL

W TSV

(57 ALLOTEC )




Brake Bridge

d
(i
\

E22

Brake Bridge

E28

Brake Bridge

’m

E29

Brake Bridge

@B

DA

/@C

DA 8.5 8.5
B 72 86
X° 132° 132°
Wi, 30g 319

DA 8.5
B 68
X° 132°
Wi, 3lg

A 7.1 7.1

B 7.1 7.1

X 72 60.5

Y 59 46.4

Wi. 369 249

( E28 ]
A 10.5
7B 8.5
(o] 10
L 70
Wi. 25¢g

DA 8.5
B 80

@C 13.9
Wi, 33g

(58 ALLOTEC )




MODELT _____E30

DA 8.5
) B 65
27 Wt 29g
B
[ |
oA MODEL
DA 8.5
B 80
= oC 11.2
(‘I(\\‘»
@» % Wi. 299
B
oC MODELY E232 Y E233
oc gA 14 18
Da 12 16
@C 16 22.6
@c 13.9 20
E 18 28
H 48.9 50.8
w 34.7 34.7
x° 8.5° 8.5°
Wt. 669 1039
Brake Bridge MODEL ¢
- B 17.6
RA C 35
B @D 8.5
Wit. 29

(559 ALLOTEC)




Front Disk Brake
@ - J?J
H M

S~

Eolis :

74.2

2-M6X1.0

Wit.

669

MATERIAL

CRMO/AL

MODEL
H

74.2

M

2-M6X1.0

Wt.

969

74.2

2-M6X1.0

82¢g

MODEL
H

74.2

M

2-M6X1.0

6 _Q

Rear Disk Brake

“ 6 h H.

L

h:

:

A

Wt.

609

2A

14 16

L

15 15

H

34 34

Wi.

339 369

A

3

L

10

H

34

Wit.

3lg

(60 ALLOTEC)




ac 8.5
L1 91.8
L2 60.2
w 54
Wit. 5269
for E-6000

@C 8.5
L1 69
L2 108.4
W 71
Wit. 10479
for E-8000/E6100

acC 10
L1 25.79
L2 73.86
i 47
Wit. 832¢g
for MAX01

0] 8.5
L1 69
L2 108.4
W 71
Wit. 932g
for E-5000

(61 ATTOTEC)




ac 9
L1 35.61
L2 135.59
W 75
Wit. 1093¢g
for BOSCH4

L1 L2
MODEL [ E80 |
ac 8.5
W L1 69
L2 108.4
(] W 71
il Wt. 11769
‘ for DUEP-800
L1 L2
gc
MODEL
agc 8.5
M1 4-M5X0.8X10L
L1 L2
M2 3-M3X0.5X8L
Tl Nk L1 89.37
L2 91.35
w 70
Wit. 12209
for M410/510

(62 ATTOTEC)




]
o /\
0 DA 14 16
o 7B 12 14
0 L L 61 61
W, W. 20g 21g
I
7B
DA
L DA 13 15
| 7B 10.5 12.5
: L 60 60
] W, 11g 129
7B
' DA
,
DA 12
7B 14
Wi. 40g

2B 14 16
| L 48 48
Wt. 20g 20g
DA
B

(63 ALLOTEC)

210/Q220
-
L




M6X22

M6X20

17
M3X6

e JE

MeeeL ]
FtsEtt et ve

M6X14 L

M3X10

114

S 119 122

(64 ALLOTEC)




No.81, Lane 166, Xiquan Rd.,
Shengang Township, Changhua county (50951), Taiwan.

TEL: +886-4-7987686 FAX:+ 886-4-7985786
Email:allotec@allotec.com.tw




	2023dmAB(面)
	2023dmAB-1(內頁)
	2023dmAB-2
	2023dmAB-3
	2023dmAB-4
	2023dmAB-5
	2023dmAB-6
	2023dmAB-7
	2023dmAB-8
	2023dmAB-9
	2023dmAB-10
	2023dmAB-11
	2023dmAB-12
	2023dmAB-13
	2023dmAB-14
	2023dmAB-15
	2023dmAB-16
	2023dmAB-17
	2023dmAB-18
	2023dmAB-19
	2023dmAB-20
	2023dmAB-21
	2023dmAB-22
	2023dmAB-23
	2023dmAB-24
	2023dmAB-25
	2023dmAB-26
	2023dmAB-27
	2023dmAB-28
	2023dmAB-29
	2023dmAB-30
	2023dmAB-31
	2023dmAB-32
	2023dmAB-33
	2023dmAB-34
	2023dmAB-35
	2023dmAB-36
	2023dmAB-37
	2023dmAB-38
	2023dmAB-39
	2023dmAB-40
	2023dmAB-41
	2023dmAB-42
	2023dmAB-43
	2023dmAB-44
	2023dmAB-45
	2023dmAB-46
	2023dmAB-47
	2023dmAB-48
	2023dmAB-49
	2023dmAB-50
	2023dmAB-51
	2023dmAB-52
	2023dmAB-53
	2023dmAB-54
	2023dmAB-55
	2023dmAB-56
	2023dmAB-57
	2023dmAB-58
	2023dmAB-59
	2023dmAB-60
	2023dmAB-61
	2023dmAB-62
	2023dmAB-63
	2023dmAB-64
	2023dmAB-1(底內頁)
	2023dmAB(底)

